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• Source of the information in the red box ( Ξc(2970)-Ξc mass difference ) is pure Yelton's paper.


• PDG made mistake assigning the charges of Ξc ground state:


• MΞc(2970)+ - MΞc0 instead of MΞc(2970)+ - MΞc+   for 498.5 MeV diff.


• MΞc(2970)0 - MΞc+ instead of MΞc(2970)0 - MΞc0   for 499.9 MeV diff.


• They use false Yelton's value instead true Yelton's value, i.e. 


• MΞc(2970)+ : 2969.4 instead of 2966.4


• MΞc(2970)0 : 2967.4 instead of 2970.8


• Since uncertainty of Yelton's is lower at least factor of 2 and much larger statistics, false Yelton's value almost determine 
PDG value. 

Error in PDG 
- Mass of Ξc(2970) -
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PDG False Yelton's

Ξc(2970)+ 2969.4 2969.4

Ξc(2970)0 2967.8 2967.4

PDG Yelton's

Ξc(2970)+ 2969.4 2966.4

Ξc(2970)0 2967.8 2970.8



• For example (neutral one is simpler), 


• Considering the three listed above only: OUR FIT shows too small value and too small uncentainty.


• Using the three above + true Yelton's   : OUR AVERAGE never become less than 2970.


• Using the three above + false Yelton's  : 


• Assuming gaussian for each and generating randoms with each EVTS


• I can reproduce 2967.8 ± 0.8 MeV 

• I reported the error to PDG.

Error in PDG 
- Mass of Ξc(2970) -
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# of EVTS  for Ξ(2970)0 : 916 
                                               True Yelton's : 2970.8  

                                                 False Yelton's : 2967.4



Efficiency

• For Ξc(2970)+ → Ξc(2645)0π+ → Ξc+π-π+ decay, 

• Mass cut on Ξc(2645)0 of ±5MeV are applied.
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• Currently, I omitted the natural width of Ξc(2645)0. 

• I am regenerating MC files with proper natural width of Ξc(2645)0.


